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1. At the air-water interface, amphipathic molecules are:
(A) Aligned with the hydrophobic tail in the water and the polar head group in the air.
(B) Aligned with the polar head group in the water and the hydrocarbon tail in the air.
(C) Freely soluble in water and do not accumulate at the air-water interface.

2. A catalyst accelerates a chemical reaction by:

(A) increasing the equilibrium constant for the reaction.
(B) increasing the activation of energy for the reaction.
(C) decreasing the activation energy for the reaction.
(D) decreasing the equilibrium constant for the reaction.
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Use the words to complete the sentences about protein structural organization.

Tertiary structure
Interior

Amino acid sequence
Quaternary structure
Hydrogen bonds
Nonpolar

Secondary structure
Subunits

Protein primary structure is the amino acid sequence.
(1)__is the folding of the polypeptide backbone chain and is stabilized by __ (2) .
(3) _is the overall three-dimensional structure of the polypeptide chain and is
stabilized, in part, by placing (4) side chains in the _ (5) of the protein.
(6) _ is the spatial arrangement of the __(7) of a multi-subnuit protein.
The _ (8) _ isresponsible for the secondary, tertiary, and quaternary structure of a
protein.
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4. Would eating a candy bar with high sugar content just prior to a race be a good idea or a
bad idea for a bicyclist?

5. The consumption of alcohol after prolonged exercise leads to low blood glucose and
elevated blood lactic acid. Why?

6. In most enzymes the active site consists of only a few residues. Why is the rest of the
protein necessary?

7. Why are many herbicides targeted toward enzymes involved in the biosynthesis of
essential amino acids?




